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Sensitivity | Sensitivity Homophily | Homophily
Province (on Jack’d | (onall time | (onJack’d | (onall time

useinlast | Jack’d use in last Jack’d

30 days) usage) 30 days) usage)

(%) (%)
An Giang 10.7 19.5 151 1.25
Bac Giang 41.7 60.6 0.61 1.04
Binh Dinh 32.1 75.4 1.35 1.76
Can Tho 11.3 24.7 0.94 2.15
Da Nang 41.6 59.9 1.79 1.52
Dak Lak 17.1 333 0.99 1.12
Dong Nai 29.9 7.1 0.99 1.77
Dong Thap 15.6 22.2 1.53 1.59
Ha Noi 59.5 78.1 1.46 1.91
Hai Phong 27.8 44.9 1.25 1.13
Nam Dinh 49.2 63.6 1.00 0.92
Thanh Hoa 338 43.7 1.36 1.26




